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1. 8T
(1) +=®T
ZEAR L = 1.000
a7 Y—hL 2;;;—25(20) (k) W/C m3 116. 800
HUFE T —RAUF, SR E nf 207. 200
WHE R Ee = L% —WEVP 12150 4. 0m A 5. 000
H Hiii % & VEEHEE B #iAK t=10mm nf 41. 900
SR L RN T, #1572 SD295, D10 kg 426. 000
SR L RN T, $A57 SD345, D16 kg 3, 060. 000
SR L RN T, $A57 SD345, D19 kg 4, 156. 000
AT m 64. 700
WEMT CGEART) ﬁ:}gfgfg% 5~1bem 3 | 194. 300
ayr7Y—LhTL 18-8-40 (fik7) W/C=60% m3 6. 400
AT — R, B Lav)) -} nf 7.300
+T X 1. 000
PEHI L R m3 228. 000
HWERT il m3 44. 000
% b m3 33. 000
TRA +w m3 151. 000
7 INRLASHE Hb S HEE £, 40m m3 151. 000
b E +40, 35. 0OkmLL F m3 151. 000
2. TUA—1L
(H)7>rHh—T
7T X 1. 000
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TAE - FER - AR ok HANT Kok i =
HIAL (7 v 1 —) CEE A, 115mm, VAE £ m 974. 000
HIFL (7 > F1—) ZHEE A, 115m, BE m 172. 400
BT AT A B ERT D) | g RV 29. 000
770 MENT =) m3 38. 700
7 h— T %ggﬂzﬁﬁﬁﬁlklw 7 1. 000
3. L
(L)L
&L (7 H—1I) X 1. 000
B (T v —) 7Em3 163. 300
A=Y oI v B& (T v h—) [a] 2. 000
4. PEXBEEMILIE
(1) PEXBEEDILT 2
PESEFEFE AL EL # X 1..000
P2 may Uik g =ahffiE iR sk 5 m3 151. 000
e 2
1. Wefige
(1) Hefi #e
(3254 v 1. 000
Ax (R E MmESE  17cm EN 1. 000
Ax iR #E MsESE  22cm EN 1. 000
Ax (R E MmES  23cm EN 1. 000
AFx (kiR HE MsESE  27cm EN 1. 000
Ax (R E MEES  30cm EN 2.000
B A
1. EfERE
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=g v 1. 000
FE N A LERE R A 6. 000
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